Dog Park Faux Fire Hydrant
PDPO014

& Playground

£
www.PlaygroundEquipment.com Toll Free: 1-800-667-0097 International: 1-317-747-0203 @@ EQUIpmen t3.




PDP014 - Install Guide

M8*20mm M8*30mm M8*45mm M8*50mm M8*80mm M10*25mm M10*35mm M10*65mm

£ ] t 3

— 7 a—
emm— emm— emm— e e — — —
e e e s s S— S— E—
e e e s s S— S— S—
e e e s e S— S— S—
e e e s e S— S— S—
emme—— emme—— emme—— emme——— emme—— — ——— 1 —
emme— emme emme emme— emme—— — — —
emme— emme emme emme— emme—— " " "
emme— emme emme emme— emme—— — . ——
emme— emme emme emme— emme—— ———— ———— ————
emme—— emme emme emme—— emme—— e— — ——
emme—— emme—— emme—— emme—— mm——— ———— ———— ————
emme—— emme—— emme—— -m———— -————— —— — 1 —
emme—— emm——— amme—— -————— -————— — — —
emme—— emm——— amm——— -————— -————— —" —" —"
emme—— emm——— amm——— -————— -————— ————— ———— —
e emm——— amm——— -————— -————— ———— ———— ————
emme—— amm——— -m———— e——— ———— ————— ———
amme—— mme—— -————— e—— ———— ————— —————
ema— ema— ema—— — et A A
ema— ema— ema— — SR anm— apmsEm—
————— ————— -————— e——— —" —"
————— ————— -————— e——— . .
———— ————— -————— e——— ————— E—
a———— -———— ———— e——— ————— —————
———— -———— -———— e——— ————— —————
e— m— — e’ AR
-——— ——— e—— —" —"
-——— ——— e—— . —
——— S e—— ———
——— S S ———
——— ey ey ———
——— ey ey smpm—
——— ey ey E——
—— I I E——
——— A A E——
e A ————

e I
e I Sy
e I —"
e I .
e Se—
AmmE—— Se—
AmmE— Se—

AmmE—
AmmE— S
AmmE— —
AmmE—— S—
anmE— S—
anmE— Sm—
anmE— ———

anmE—
anmE— S
anmE— ———

anmE—

an—

e

e

e

e

asmE—

anm—

am——

am——

am——

am——

anm—

anm———

M8 Washer M10 Washer M10 Spring M8 Lock Nut ~ M10 Lock Nut Barrel Nut

Washer
/A

/- N

N7

Material Specifications:
Posts - Steel
Plastics - Low Density Polyethelyne
Hardware - Stainless Steel

@ _Pplayground

www.PlaygroundEquipment.com Toll Free: 1-800-667-0097 International: 1-317-747-0203 @




PDP014 - Install Guide

Soil

I

b . i b i i | \

N\

In-ground Concrete Surface
Mounting Mounting

Concrete

@ pl

ground

o))
<

uipment:

www.PlaygroundEquipment.com Toll Free: 1-800-667-0097 International: 1-317-747-0203 @@

m
W)




PDP014 - Install Guide

Surface Mounting Option

The recommended Surface Mounting option
for the Dog Park equipment is to use the
provided J-Bolts.

Start by digging a hole appropriate to the
specific equipment being installed.

For most of the Dog Park Equipment, a 12” J
diameter x 18” deep footing is used. (Some

Equipment may specify a different size
footing.)

Fill the footing holes with concrete and insert

the J-Bolts into the wet concrete. Loosly fit |
the equipment to the J-Bolts, and brace the

equipment using straps or blocks so that it

does not shift while the concrete drys. l

After the concrete has dried, tighten down v

the equipment onto the J-Bolts using one (1)
M10 Spring Washer, one (1) M10 Washer, and
one (1) M10 Nut for each J-Bolt.

Note: Equipment should be fully assembled
before being mounted, unless specifically
stated in an install step.

S
°

round

avg

ment:

www.PlaygroundEquipment.com Toll Free: 1-800-667-0097 International: 1-317-747-0203 @@

Equi

O




